3.1. Simplex Method for Problems in Feasible Canonical Form 3
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Example 3.1. Consider
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slack variable zg by replacing it by z3.
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The current basic solution is [18/5,7/5,0,0,0,9/ 5]% and is feasible. Finally, let us eliminate the last
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The current basic solution is [0, —4, —9,0, 0, 0] which is infeasible and degenerate. Thus we see that
one cannot choose the pivot arbitrarily. It has to be chosen according to some feasibility criterion.

There are three important observations that we should note here. First the pivot operations
which amounts to elementary row operations on the tableaus, are being recorded in the tableaus at
the columns that correspond to the slack variables. In the example above, one can easily check that
Tableau 7 is obtained from Tableau 1 by pre-multiplying Tableau 1 by the matrix formed by the
columns of x4, T5s and z¢ in Tableau ¢. In the tableaus, the inverse of these matrices are computed
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